EARAROBEEIERT — 2 N— IBISH —F 201943A9H () 2m+=1H

HEl-c-519+—2% 5005hTF ¥5%3& (Ba) (5K 5@ [l m | lEeE = G5 o0 8
[A&4] 1 7 10,000,000 § 2 7% :4,000,000 § 3 3#&:2,500,000 4 3% :1,500,000 3 5 & :1,000,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o N — FTR :34. -10- . . KPIIETE (35#)
il le=zxmons571 3 A 1(3_4)8 11-10-10 [33.0| 92.6 | 3 :1_562) A
LT w IRy b B:IUTIUIIL =iiEe)
3 43 | KER 1:35.0 1-1-1 34.1]88.1| 8 512 | tiAE (RR)
Eﬂs 72y —n [B] 56.0 ) 9) &) $or—L—soy
RiF v/ xR BA—IHFTAT J—H T —L
NEYE 1) # 3 | dERKR— 1:35.1 2-2-2 34.0| 87.9 | 2 186 | BEFE (ER)
37l9|Iv¥—-—XEUY b 56.0 (1/2) o) |FEADE
RF4—TALNT N Bi1TU—F1TIXEY Y b J—¥rTr—L
S = 4 3 | BEREX 1:35.3 9-7-7 | 33.8| 86.2 | 6 448 | WIIFSH (RR)
4 L=RA—7> 54.0 A 1/2) (cg) | EFEAE—LF 12T ()
R:F4—TALNT N By 2—0XER J =% Ty — I
> i3 | HRER 1:35.5 8-7-8 |33.9| 83.9 | 1 462 | BB (ER)
5 XAFNT IV B 56.0 (1 1/4) o | B FSTLEs5T 5707
R:ZTY—>b—A— B:vAFAX—I Evily RT7—L4
N e 7 :35. -7 . . ZHET (ER)
6 HLLFAYT—L 4 3 ] 1(735t;5 6-7-8 [33.9]83.9 | 7 (4_4; ﬁ%ﬂé%
b=tk LERY B:HLLEZCPI- = &S
RN JI/EE : -4~ HREFE (FXR)
2 YHALE A 4 3 e (17;32% 4-4-4 343|825 5 gz) k;@
YA LTy B:TZ— A E
P s 3 | PHHEZ 1:35.8 5-4-5 |34.4| 79.4 | 10 | 428 |EAE (FR)
8|8l10| V71~ 54.0 @ o) | ® 3xET2-77-4
R:vavrheT B:4144F18 AREY2—T7—L
. 4 3 | SHEA 1:35.8 6-4-5 |34.4|79.4 | 4 426 | EEB— (BR)
9|5|5| PR Xh 54.0 (7 E) vy | ) G1L=v>y
LA ATAT v— BT TL BHT7— L
=l :36. -2 . . BEERE (ER)
101811 IfHqxvOl 4 3 5.0 1(346)5 2-2-2 35.4 | 68.3 9 (4_5:) gt
Z:A—-KAFA7 B:57z7L— BREHT Y KT9 T - T7—LA
o . HIBEA : 11— oproE S|
ilzlg | 17281 7—2 i 3 o 1.(?8).1 9-11-11 | 35.8 | 53.8 | 11 (4_624) prfie
a2/ XLLy b BIIZRFT i xS
@ 21 L
£ 45.9-33.9
NA>ZA L | 12.5-11.6-12.4-12.4-12.0-11.4-10.9-11.6
® 1—F—@EBIERL
13—7F-
23—5+—  [3(9,11)7,10(2,5)6(4,8)-1
Ja=77= 3(9,11)(7,5,10) (4,2,6)1-8
40—F— 3(9,11)7(5,10)4(2,6)1-8
[ N5
B 1 630M 714K 1-3 1,880 e E 1-3 8,260 JEE 1-3-9 9,160/
B B 1 240H 1-9 640M B E 1-3 6,400 JEH 1-3-9 57,600
3 480M 3-9 1,190H B H 1-3 8,750H
9 1809

ABICOVWTRDTEEERROODE. TR LIV,



